
690 Duke, orange 2018 <2018><EU><F9703R4>
TANK, SEAT

72758

Image not found.

Pos Part Number Description Additional Text Quantity

1 76007013344 Fuel tank preass. 1.00

2 0019050121 COUNTERSUNK SCREW ISA25 M5X12 1.00

3 0912050303 AH SCREW DIN0912-M 5X30 3.00

4 58605083010 SCREW TORX M5X10 05 2.00

5 76007008350 fuel tank neck 1.00

6 76007008251 Seal fuel cap base 1.00

7 69007027000 rubber grommet, tank mounting 2.00

8 54601097000 RUBBER STRIP 85X25X3 MM 2.00

9 0912050163 AH collar screw DIN 912 M5x16 4.00

10 76007080300 Fuel level sensor 1.00

11 60307080190 Fuel lever sensor gasket 1.00

12 76007088310 Gasket fuel pump 1.00

13 0025060166 HH collar screw M6x16 TX30 5.00

14 0025050166 HH collar screw M5x16 TX30 4.00


